Trigonometry - Functions and Graphs Lesson #2: Angular Measure - Radians :

| Apendulum30cmlongswingsthroughanarcof45¢m. Through what angle does the
| pendulum swing? Answer in degrees and in radians to the nearest tenth.
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AcirclewithcentreCandminoramABmeasming 152 cm is shown.

| If LABC = LBAC = %’-mdians,ﬁndmelengmofmemiusofme

‘circle to the nearest tenth of a centimetre.
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Q Complete Assignment Questions #8 - #17
Assignment

1. The diagram shows a series of rotation angles in standard position. The lines in the
diagmmatesymmeu-icalaboutboththex-axisandthey-axis. Complete the diagram by
detanﬁnmgbodndzedegmemmandmeradianmeasmeatmeendofeachﬁne.
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O 2. Convenﬁomradlanstodegrees x\ 4“ . o~
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3. Convert from degrees to radians. Give the answers to 1 decimal place. X ‘ﬂ"
@y % byWs o) 5730 428 g0
0.9 3. e 4.4
4. Convert from radians to degrees. Give the answers to the nearest tenth.
a) 0.5 radians b) 3.1rad ¢) 187radians X ‘O
° T
W6 1716 3a.0”

5. Ineach of the following

i)  draw the angle in standard position  ii) state the principal angle

ili) determine one positive and one negative coterminal angle for the angle 6

iv) write an expression involving the principal angle that represents all angles in the
domain 6 € R that are coterminal with the given angle.
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6. Determine the reference angle for the following rotation angles.
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7. Determine the rotation angle ngenmemferenc% angle and the quadrant
Reference Angle Quadrant Rotation Angle
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8. A circle has radius 8 cm. Determine (in radians) the measure of the central angle subtended
by an arc of length 5.6 cm.
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9. Calculate the arc length (to the nearest tenth of a metre) of a sector of a circle with
radius 8.4 m if the sector angle is 80°.
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10. In the diagram the circle with centre C has radius 6 cm. Determine A

O the length of arc ADB, to the nearest 0.1 cm, if LCAB = 3. Y
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11. A pendulum swings through an angle of 45°. Find the length of the pendulum (to the
nearest cm) if the end of the pendulum swings through an arc of length 32 cm.
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Flz. An angle with radian measure 2.36 has degree measure of ‘. ______h_\,

A. 424380 ' '
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| C. 6761 ™

D. 004

13. An arc of a circle subtends a central angle of x°. If the length of the arc is 1.2 cm and the
diameter of the circle is 4 cm, then the value of x to the nearest whole number is

A. 17 a=\\ & 0 rQ 0.bx \¥0
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-14. Con'ecttotheneatwttenthofadegree,%‘radisequalto °.
(Record your answer in the numerical response box from left to right.) 6’[ ) S
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15. An arc DE of a circle, centre O, is % of the circumference. The size of ZDOE, to the
nearest one hundredth of a radian, is
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16. ApersononaFanswheelmovesadxstanceomeuesfmmposmonPtoposmonQ

If the diamete: fthewheelxsl8meuu the measure of the central angle, to the nearest
tenth o 18
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17. A satellite makes one complete revolution of the earth in 90 min. Assume that the orbit i
circular and that the satellite is situated 280 km above the equator. If the radius of the
earth at the equator is 6400 km, then the speed of the satellite, in kilometres per secon, !
the nearest one hundrédth, is :

(Record your answer in the numerical response box from left to right.)
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